- X~
=Py U9 - (XA U-5
(7(_:’)7« ) /
X+ XY~y 39— x+XJ=I+3J o
X-9*
-2y t2XY o
(x-3*
~24 +2xy'=°
2 Xj{:‘- z-j

( T~ \
4 .\ G/’tm'n ,Q ule W
LKA y=x® , x = 2t+ S fimd Y /4E

Tds  dax dt  dS
Ly x+3
dX L
daX _ 3 4
At ¢t
dt _ 294]
ds
e _iL‘j_.: CZIX+3)(3+"§,)(ZS+|)
ds

)



£c3. yast-2 5 X-3t +2t4] 5 Find

,.o—t‘j_:S

AT

—-OLX—-: O/f‘f‘ff

dt
oAy

A aF . _°

A X (6t +2)
dt

ﬁ - ’
A Find fdx_ A the  Falling:—
DY s (K2 X2 X 1)

£
2) J=(x%X +a)u-( x*-2X-5)

(x* +2)
Y I Txr-w)
; 3 -
B y . ARER(BX-ZXAI)
(X2+Xx+3)
5) y_ = -

o) X% 4+y* = 22Xy « 8
(49’ (=)= Xy

£ z
1) x>+9 7 =1

"_5)

oLy

——

dAX



7

B:

Fond

2
J=x",

ig_ bor each of the Jalliwing,

X =2t +1

J: 5-%‘ 2 x"’i—z
Jraxt-1 5 x+2t=|

J={ x+2 x:%
2

dz

XZ |

> X=v 2+

J= X4 2X-F 5 Xeit+]

L 7%
J= X

> X< t'z-t'l

2
£) J- x’°+—7l(- 5 X=25+5-1, 3= 32"

C:

Finel

L for each of the dallertigi—

1) J= t"+t+l 5 X=2 t+3

2) 9= @+

Lf) X =

x= 6% 3,,94—5

A
pu—— »

é
3) J=VEr iz 5 %= ¢
-l ;=
+ +l ‘ t" \/2

5) X= +J22+45 - J= C4t) 4
6) X=Jztt 4+ 5 Y= (2T +1)

7 x=

.___’_-.-(-fz 5 Y= tz,'b+l

t



